KOHLER
GENERATORS

TT-577
INSTRUCTIONS

Battery Charger Disconnect Kit

Kit No. PA-262298 for Battery Charger C-269214 (12 Voit)
Kit No. PA-262299 for Battery Charger C-269215 (24 Volt)

WARNING

UNIT STARTS WITHOUT NOTICE! Units with
Automatic Transfer Switches start automati-
cally. Turn Generator Main Switch on con-
troller to OFF position and remove battery
cables to disable generator set before working
on any equipment connected to generator.
When removing and connecting battery
cables, disconnect negative lead first, and
reconnect it last to avoid electrical shock or
sparks igniting explosive battery gases.

WARNING

ELECTRICAL SHOCK! Disconnect AC power
source to battery charger. Either open circuit
breaker or remove plug from outlet before
working on any equipment.

FUNCTION

The Battery Charger Disconnect Kit provides for auto-
matic disconnection of the battery charger while the gen-
erator set is in the cranking cycle. During the cranking
cycle battery voltage drops, causing the battery charger to
start a high rate charge. This high rate charge is often
greater than the capability of the charger and damage to
the battery charger can result.

MOUNTING AND CONNECTION

Other than using a different relay for 12 or 24 Volts, the
procedure to install kits PA-262298 and PA-262299 are
_identical. See wiring diagrams.

1. Mount relay horizontally in cooling siots, above the
transformer, on back panel of battery charger.

2. Disconnect transformer wire on terminal 2 of terminal
strip and cut off eyelet terminal. Clean end of wire and
crimp-on X-431-25 terminal. Then connect to terminal
1 on relay.

3. Disconnect transformer wire on terminal 4 of terminal
strip and cut off eyelet terminal. Clean end of wire and
crimp-on X-431-25 terminal. Then connect to terminal
3 onrelay.

4. Install yellow lead from terminal 7 on relay to terminal 2
on terminal strip.

5. Install black lead from terminal 9 on relay to terminal 4
on terminal strip.

6. Install white lead from terminal B on relay to negative
(-) side of DC voltmeter.

7. Install red lead (lead with terminals on each end) from
terminal A on relay to terminal 7 on terminal strip.

8. Locate starter control solenoid terminal. Depending
upon the model of generator set, the starter control
solenoid location will vary. The wire from the controlier
which energizes the starter is also connected to this
terminal.

Install long red lead from terminal 7 on terminal strip,
cut off excess wire, crimp-on X-283-2 terminal and
connect to starter control solenoid terminal.

Part Listing
Qty. Part No. Description
1 248362 Relay (12 Volt)
1 248363 Relay (24 Volt)
2 X-18-1 Lockwasher #6
4 X-25-9 Washer, Flat #6
2 X-71-2 Nut 6-32
2 X-49-26 Screw 6-32 x 1/2"
1 X-283-2 Terminal, Eyelet
2 X-431-25 Terminai, Push-on
1 LR-1816-5713 Lead, Red
1 LY-1816-5713 Lead, Yellow
1 LB-1816-5713 Lead, Black
1 LW-1820-5714 Lead, White
1 L R-14240-1300 Lead, Red




¥12692-0 H3IDHVHI AHALLIVE "A 2L HOd

108

oL

ANdNI 170A 02}

dWY i
* NO HIMOd.

|

f—

o~

AH31IVE OL

‘OV'AOZL OL
ANIONI NO QIONI108 ,
TOHLNOD ONINNVHD OL Q314193dS ISIMYIHLO AH3LLVE OL
\ SSITNN ¥D 0z 38V $AVA1 1V 'ILON VI8 a3y
T - +
r—— %18-YO 0} —
T
VAT 7 4NN
m 20, % aa_ '\
¢ n+ | __/+ \
/ X 1IN
@ X bl
sch o CLA Al
I8 2 = » .NO HIMOJ,
—— JLIHM L _. o PN
e uuE | = —
—— voum s | | N
/ awvs ¥ )
X 1
HINVIHA LINDHID * = LY _
WSz e | s e o e —tq rE |%J|I
O\ 1 ° O g2 070
wa) | — LS Y I | = 5 ol
Lo le .9 oI.CJ_ o 9
- 18-v9 01
VO 01
MOTI3A———
ane
-1
8
[ o -
' Yol
_ z0
1408 £
2 | oh
m __ _ vr81vZ-9 vod
= awr (T ] auvos 5 O
HOSS3YdANS _ LINOHID
I 1 ﬂ OHINOD 9
& 208 _| 10
=
g ¢ —_— —
HIWHOISNVHL a3y
a3y
a NMO
g ELY
ONIHIM TYNHILNI
o =00000
as U
U [} 8 L
S| | @
€ t4 3

HINVINE
LINOKI0
dnv s
Hao
H3IWHOISNYHL
6 3 b
u3INVIHE LINDUID
rig dWV 52
&
<
aq
M) SV
dWVT HOSS3HddNS,
~~ rd I AN
SdNY,
ZHOS L4OS
[ ———
F3 8 p—

—_— e

Quvoe LINJHID TOHLINOD



G12692-0 HaADUVHI AHILLVE "A $Z HO4

‘O'V'A0ZL O

lll

ANdNI LT0A 021

J\

dWVT
s L

«NO HIMOd
_ d m \

3LIHM

3

]

Haxvaue
LHN0HID
dNv L

HIWHOJISNYHL

b+

HINV3IHE LINDHID
dWv ST

()

AY3LLVE OL

A

o

a
SV

dAV1 mOmwwzmu:w\ 1 \

LHS

WV,
\29/
[ 4
f2 T 1] [3:1e1-]

3NIDN3 NO AION310S @314103dS 3SIMYIHLO Auaiivaol
TOHLNOD ONINNVYI 01 _ SS3IINN VD 0Z 3UY SAVIT 11V :ILON Nvig Q3d
* - +
_ j N8-VO Z1
—
S1108 / awvN\
2 aa 2a
m
o +|O
+ / + \
o (.\
L N dwv1
m
S B r+- 2 .NO H3MOd,,
=) w
1 m2 — — e
1 CREL] =
uid | |
mveiL fd —MOTI3A
. <
= F e
— o) ol T =]
v £ 2 x |- + “
R OJnervos Hna.%L
1 T N1E-VO 2t
NB-vo Z1
! MOTI3A
na
L e
-] x18-vo NT._ J_ ne
[ 9 r———%&"
L
_ n | 20|
® [C'L13 r__.. 148 _ ¢
“ m _ | 1seLvz-a vot
Q 4NV v _ __ auvoa 5O
< HOSSIHdaNs _ 1INouID
= M _._ T0HINOD sO
M ZHoOs _l_ s _ o 10
U (N _
HIWHOISNYHL »a-vo i
a3y
w NMOoNE
_l_ IDNVHO
AVI3H ONIHIM WNHILNI
a2

00000 2

6 8 L
T[T | T
€ (4 3

.

14 LA
¥4 eqa

— —

auvosd LINJHId TOHLNOD

£y




